
and butane respective1y are 59% and 93% by weight, and that the cost

of Drodu.cing butanie from ind.ustrial alcohol is about thrce timos the

cost of production from butane,

If ai]. leasible Oana&ien rubber requiremeits vere made from a

wheat base it wouJ& -probablây uti1ize no more thai 20,000,000 busihels

at most: Qanadian wheat in stor'age as of Max'eh 31., 1.943, the laBt

estinatew.s 799,000,000 bushels. T~ho estimated Canadia.n producti.on

of a3.colol in 19143 is 14,>000 ,o gafllons, whic1h would require abor.it

7,000,000 bushels if the total were ma.de from *hea. It Is doubtful

whetJhsr chemurgie devoiopments wili ever ta1ve upo more tbaxi a frâctioi

o! the Canadian wheat cro'o.
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